
HAL Id: hal-04086354
https://hal.science/hal-04086354

Preprint submitted on 2 May 2023

HAL is a multi-disciplinary open access
archive for the deposit and dissemination of sci-
entific research documents, whether they are pub-
lished or not. The documents may come from
teaching and research institutions in France or
abroad, or from public or private research centers.

L’archive ouverte pluridisciplinaire HAL, est
destinée au dépôt et à la diffusion de documents
scientifiques de niveau recherche, publiés ou non,
émanant des établissements d’enseignement et de
recherche français ou étrangers, des laboratoires
publics ou privés.

Public Domain

Local labour markets and spatial determinants of
overeducation

Florian Fouquet

To cite this version:
Florian Fouquet. Local labour markets and spatial determinants of overeducation. 2023. �hal-
04086354�

https://hal.science/hal-04086354
https://hal.archives-ouvertes.fr


�

� ��������

�

��	
��
��������������
������������������

�����������

�

�

�

�

�

�

���	�������
�����������
����������

�������
�
���� �������
	����
��
�

�

�����������	
	���

�

�

�

�

�

�

�

�

�

�

�

��
���	��������������





















Yt = Xtβ + α+ ut
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Yt = ρWYt +Xtβ +WXtθ + α+ ut
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Yt = τYt−1 + ρWYt + ηWYt−1 +Xtβ +WXtθ + α+ ut
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Yt = τYt−1 + ρWYt + ηWYt−1 +DUXtβU +WDUXtθU +DRXtβR +WDRXtθR + α+ ut
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Yt−1

WYt WYt−1

WXt

Yt = τYt−1 + ρWYt + ηWYt−1 +Xtβ +WXtθ + α+ ut

WY β θ

X Y

Y W

Yt = (I − ρW )−1(τI + ηW )Yt−1 + (I − ρW )−1Xtβ + (I − ρW )−1WXtθ + (I − ρW )−1(α+ ut)

Yt = (I − ρW )−1(τI + ηW )Yt−1 + (I − ρW )−1(βIN + θW )Xt + (I − ρW )−1(α+ ut)

Yt =
N
∑

k=1

(I − ρW )−1(τI + ηW )Yt−1 + (I − ρW )−1(βkIN + θkW )Xkt + (I − ρW )−1(α+ ut)
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= [(1− τ)I − (ρ+ η)W ]−1(βkIN + θkW )



Yt = ρWYt +Xtβ +WXtθ + α+ ut
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= (I − ρW )−1(βkIN + θkW )
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